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1 Na ShyOtor X , Y ,w ,
t > O
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2 NX JHyOtion X ,Y ,W >O

x" + y3+w + y*+ wi+ X2+ w" + X+y c9
X2Y you weX

3 Ar X1Y0 non y+ 37 = 4 Toit XY1

↑ Av X ,Y > 0 kou 3x"+4y=7 Tote XY &1

5 Av x 1>0 nou 8 x*+ xy2= TTE XYd

6 Au X 1170 kou y+y = 10 Tort Xy <6

And da ra opdojuivia nagabudgappa he Granted
epbator iso pe 36cm2 va spiri entire be
zur edaylgen reginzego.

8 Ano oba za opdojuna nagadud finea peegafum
bath nou one igo it 1000 cm va bet
Entire If urfaxley Enigairha

E Ano oda ea opPojrivia rigma te braptori unostivorba
int cocu va betti entire fit to fitpto
Effator

10 Anooba ra oplonivia zpijma fit brautpoefbato
Iso It Cim va sett tutiro letMr Ebaxisen
Megiptzgo

spyvl
Typewriter
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1) Dirttoun Kalmidu y=, X30 von Al-10)
Na seeiti zo suptio us napnubus
Mou Ext zuv Haylen Knotzaby kno
TO A

12 irtean n natimulu y = 3-X2 non oppoguivio ABTA
onls pairfral 610 napanazw GXrfx

A( , 0) . B(x ,y) ,
r(x

, Y) ,
a(-X , d)

↑ NX epfutin DiGu you Suption A
· nou OXXE v19Turonoia
zo flubator for ABTA SiveTal
Hig6o

13 Et mikdo akzivas e = 1cm tweayout oppogu lo
ABRA

.

No Option oi Gladzabhis zouga as
onoits figgronasizal to erbatov you.

A B

A ↑

14 Mia Segapern vepoi Exeexripa oplonria
napaddudeninisou put us go tipts zou Trpajura
To name pegos us ofjath's firou xvonto
kou tira hatabutuablim no datagiva Erbajoi
27m2 ·

Nc epejoir on Glaciatic zu5 Offaptuis
Ha va xupos en figben durati nobota repor


